
DRIVING DIRECTIONS

SUNVIEW RV PARK
COL06034

NOKIA MARKETS MODERNIZATION
MRUTH060541

FA #: 10093884
MONOPOLE TOWER

CONTACT INFORMATION

ENGINEERING

SITE INFORMATION

11"x17" PLOT WILL BE HALF SCALE UNLESS OTHERWISE NOTED

DRIVING DIRECTIONS

PROJECT DESCRIPTION

VICINITY MAP LOCAL MAP

T-1

UNDERGROUND SERVICE ALERT
UTILITY NOTIFICATION  CENTER OF COLORADO

800-922-1987
www.co811.org

DRAWING INDEX

GENERAL NOTES

Exp.10/31/2025

05/30/2024



C-1
1

ALL INFORMATION AND TRUE NORTH
HAVE BEEN OBTAINED FROM EXISTING
DRAWINGS AND ARE APPROXIMATE.

THIS IS NOT A SURVEY

1"=150'-0" (22x34)
(OR)

SCALE:
1/2"=150'-0" (11x17)

150' 0 75' 150'

Exp.10/31/2025

05/30/2024



C-1.1
11"=7'-0" (22x34)

(OR)
SCALE:

1/2"=7'-0" (11x17)
7.0'3.5'0

Exp.10/31/2025

05/30/2024



C-2
1

NOTE:
SEE C-4 FOR ANTENNA PLANS

1"=3'-0" (11x17)
SCALE:
(OR)

1"=6'-0" (22x34)0 1.5' 3'

GROUND SCOPE:
REMOVE (1) ALPHA TECHNOLOGIES CXCM4 PDU
REMOVE (3) CXDF 48-24/2KW CONVERTERS
REMOVE (5) CXRF HP 48-4KW RECTIFIERS
REMOVE (4) 155AH BATTERIES (INSTALLED 03/17)
REMOVE (12) 155AH BATTERIES (CONDUCT  10% OR LESS)
PROPOSED (1) GENERIC E\\\ BBU @ DRM
PROPOSED (1) VERTIV 512 -48V/-58V CONV PDU (NEQ.54038.F2021019)
PROPOSED (11) -48V RECTIFIERS (NEQ.15930 1R482000E3
PROPOSED (10) -58V CONVERTERS (NEQ.53011 1C48582000P3)
PROPOSED (20) 12V 190AH BATTERIES (12V190AH)(5 STRINGS)
PROPOSED (1) VERTIV OUTDOOR BATTERY CABINET NEQ.19918
PROPOSED (1) FLEX42
PROPOSED (1) DC12-48-60-0-25E (ON PROPOSED H-FRAME)

7
C-6.1

8
C-6.1

1
C-6.2

6
C-6.1

2
C-6.2

Exp.10/31/2025

05/30/2024



C-3
211/2"=20'-0" (11x17)

SCALE:
(OR)

1"=20'-0" (22x34)20' 10' 20'0
1/2"=20'-0" (11x17)

SCALE:
(OR)

1"=20'-0" (22x34)20' 10' 20'0

7/8"

EXIST.CABLE TYPE LENGTHSIZE

FINAL CABLE INVENTORY

DC 2

FIBER 1

COAX 2

-

-

-

TOTAL

5

2

2

-

-

PROP.

3

1

-

1-5/8"

INNERDUCT 1

RET 1

COAX 10

-

-

-

3

1

10

3/8"

2" 2

-

-

·
·
·
·
·
·

Exp.10/31/2025

05/30/2024



1 21/4"=1'-0" (22x34)
(OR)

SCALE:
1/8"=1'-0" (11x17)

0 1' 2' 4'1/4"=1'-0" (22x34)
(OR)

SCALE:
1/8"=1'-0" (11x17)

0 1' 2' 4'
C-4

A1

A2

A3

SECTOR
"A"

SECTOR
"B"

B1

B3

B2

AZIMUTH

135°

C2

C1

C3

AZIM
UTH

22
0°

SECTOR
"C"

AZIM
UTH

35
°

A1

A2

A3

A4

B1

B2

B3

B4
C1

C2

C3

C4

SECTOR
"A"

AZ
IM

UT
H

35
°

SECTOR
"B"

AZIMUTH

135°

AZIM
UTH

22
0°

SECTOR
"C"

1
C-6

2
C-6

3
C-6

4
C-6.2

4
C-6

7
C-6

5
C-6

9
C-6

5
C-6.1

1
C-6.1

SECTOR
"D"

3
C-6.2

6
C-6

8
C-6

5
C-6.1

5
C-6.1

5
C-6.1

1
C-6.1

1
C-6.1

1
C-6.1

5
C-6.2

5
C-6.2

5
C-6.2

Exp.10/31/2025

05/30/2024



C-5
1

NOTE:
· REMOVE ALL UNNECESSARY HARDWARE TO MAKE SPACE FOR PROPOSED ANTENNAS
· GC TO REFERENCE FINAL RFDS WITH FREQUENCY AND SPECTRUM INFORMATION

FINAL ANTENNA CONFIGURATION AND SCHEDULE

SE
C

TO
R

 A

ANTENNA
POSITION AZIMUTH TIP HEIGHT MODEL TMA / FILTERS RRH OTHER EQUIPMENT

A1 35° 154'-0" NNH4-65C-R6-V3 - (1) RRH 4490 B5/B12A

(1) DC6-48-60-18-8F

A2 35° 154'-0"
AIR6419 B77D (TOP) +

AIR6419 B77G (BOTTOM)
(STACKED)

- AIR6419 B77D + AIR6419 B77G
(INTEGRATED)

A3 35° 154'-0" NNH4-65C-R6-V3 -
(1)  RRH 4478 B14

(1) RRH 4890 B25/B66

A4 - - - - -

SE
C

TO
R

 B
ANTENNA
POSITION AZIMUTH TIP HEIGHT MODEL TMA / FILTERS RRH OTHER EQUIPMENT

B1 135° 154'-0" NNH4-65C-R6-V3 - (1) RRH 4490 B5/B12A

(1)  DC9-48-60-24-8C-EV

B2 135° 154'-0"
AIR6419 B77D (TOP) +

AIR6419 B77G (BOTTOM)
(STACKED)

- AIR6419 B77D + AIR6419 B77G
(INTEGRATED)

B3 135° 154'-0" NNH4-65C-R6-V3 -
(1)  RRH 4478 B14

(1) RRH 4890 B25/B66

B4 - - - - -

SE
C

TO
R

 C

ANTENNA
POSITION AZIMUTH TIP HEIGHT MODEL TMA / FILTERS RRH OTHER EQUIPMENT

C1 220° 154'-0" NNH4-65C-R6-V3 - (1) RRH 4490 B5/B12A

-

C2 220° 154'-0"
AIR6419 B77D (TOP) +

AIR6419 B77G (BOTTOM)
(STACKED)

- AIR6419 B77D + AIR6419 B77G
(INTEGRATED)

C3 220° 154'-0" NNH4-65C-R6-V3 -
(1)  RRH 4478 B14

(1) RRH 4890 B25/B66

C4 - - - - -

SE
C

TO
R

 C

ANTENNA
POSITION AZIMUTH TIP HEIGHT MODEL TMA / FILTERS RRH OTHER EQUIPMENT

D1 - - - - -

-

D2 - - - - -

D3 - - - - -

D4 - - - - -

Exp.10/31/2025

05/30/2024



C-6

16.1"7.9"

28
.3

"

16.1"7.2"

28
.2

"

16
"

(M
IN

)

20
.6

"

15.6"7"

18
.1

"

13.4"8.26" 19.6"7.8"

96
"

m

m

12
"

8 3/8"

5 15/16"

2"

Exp.10/31/2025

05/30/2024



NOTE: ENGINEER APPROVED OR EQUIVALENT NOTE: ENGINEER APPROVED OR EQUIVALENTNOTE: ENGINEER APPROVED OR EQUIVALENT

C-6.1

32"

72
"

39"

Exp.10/31/2025

05/30/2024



C-6.2

78
"

31"

78
"

30"

31
"

Exp.10/31/2025

05/30/2024



E-1

Exp.10/31/2025

05/30/2024



E-2

Exp.10/31/2025

05/30/2024



G-1

”

“ ”

NOTES:

1. UTILIZE EXISTING AT&T GROUND BARS AND GROUNDING.

2. ADD GROUND BARS IF THERE ARE INSUFFICIENT LUG POSITIONS.

3. REFERENCE AT&T BONDING & GROUNDING PRACTICE TP76416.

EXISTING
GROUND BAR

#2 PROPOSED GREEN
STRANDED
TINNED COPPER
CONDUCTOR
W/ THERMOWELD

3/8" WASHER

3/8"x3/4" SS BOLT

3/8" WASHER

3/8" SS LOCK WASHER

3/8" SS NUT

NOTES:

1. CONTRACTOR SHALL REFER TO AT&T GROUNDING AND BONDING
PRACTICE TP-76416. ALL EXOTHERMIC CADWELDS SHALL BE
PERFORMED BY CERTIFIED TECHNICIAN.

2. PROVIDE WEATHER PROOFING AND GROUNDING KIT TO BOND
DC POWER CABLE SHIELD TO EXTERNAL HATCH PLATE GROUND BAR.

3. PROVIDE GROUND CONNECTION FOR DC POWER CABLE SHIELD
TO "P" SECTION OF CRGB WITHIN SHELTER.

4. CONTRACTOR SHALL USE THEFT RESISTANT GROUND WIRES
AND BARS WHEN FEASIBLE.

5. CONTRACTOR SHALL MAINTAIN A 12" MINIMUM GROUND WIRE
BEND RADII.

6. GROUND LUGS, HEATSHRINK AND CLAMPS DEVICES SHALL
COMPLY WITH AT&T GROUNDING AND BONDING PRACTICE TP-76416.

PROPOSED AT&T
AEQK ANTENNA

ANTENNA
MOUNTING PIPE

EXISTING ANTENNA
GROUND BAR

PROPOSED AT&T
ANTENNAEXISTING DC9/DC6

SURGE SUPPRESSOR

PROPOSED AT&T RRH

Exp.10/31/2025

05/30/2024



GN-1

Exp.10/31/2025

05/30/2024



GN-2

Exp.10/31/2025

05/30/2024



GN-3

Exp.10/31/2025

05/30/2024



GN-4

Exp.10/31/2025

05/30/2024



GN-5

Exp.10/31/2025

05/30/2024



·
·
·

·

·

· – 

· – 

·

·

·

·

·

·

·

·

GN-6

Exp.10/31/2025

05/30/2024


	Sheets and Views
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-T-1
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-C-1
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-C-1.1
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-C-2
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-C-3
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-C-4
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-C-5
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-C-6
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-C-6.1
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-C-6.2
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-E-1
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-E-2
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-G-1
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-GN-1
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-GN-2
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-GN-3
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-GN-4
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-GN-5
	MRUTH060541.10093884.AE201.240528.FCD.Rev 0-GN-6


